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since resistance can’t become negative, 



C6.16
06.0

11
0)1(

o

0

=
−

−=−<∆

>∆+

a
T

TR α
. 

 

19.41 

W00.100.3333.0
A333.01800/600
=×==

==
IVP

I
 

 

20.6 

a) 

W2.190.484.0

A4.0
120

0.48
120962421

=×==

===

Ω=+=+=

IVP
R
VI

RRR

 

b) 

W1200.485.2

A5.2
2.19
0.48

19.2
9624
9624

111

21

21

21

=×==

===

Ω=
+
×

=
+

=

+=

IVP
R
VI

RR
RRR

RRR

. 

 

20.22 

a) 

A200
01.005.0

12
=

+
=

+
=

rR
VI . 

b) 

10V05.02001 =×== IRV . 

c) 

0W200102001 =×== IVP . 

d) 

(i) 

80A
01.009.005.0

12

21

=
++

=
++

=
rRR

VI . 

(ii) 

11.2V)09.005.0(80)( 211 =+×=+= RRIV . 



(iii) 

896W2.11801 =×== IVP . 

 

20.29 

213 III +=  

 

20.30 
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For loop a k l e d c b a: 
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Solve the equation, and we have 
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